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Solving Sequence

28 57—>3>4—>1—>9>6->12>10->5—> 1> ¢5,C10
A knot diagranﬂ Cr €2 €3 € €8 Cg Ci2 C9 C4 C11 ’

Ideals for irreducible componentfbf Xpar

I =W —u® 4 pu—1)

* 1 irreducible components of dim¢ = 0, with total 89 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LIF=(u®®—ud®+...+u—1)

(i) Arc colorings
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wWHul+ut+1
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w32 + 8u30 + - 4 dut + 202
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—ubt —15u% + - — P

—ub — 15u%t 4 —u? + 1
ail] = \ —

<
<
<
( 3
o= (s v)
<
<
<
<
<

u%® — 16u%6 + - - - 4 3ut + 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u8" — 4u80 + ... —4u% — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u¥ 430 -1
C2,C7 u® +u® e tut 1
s u®® — U 4 14970 + 457
= u? — w4 —Bu 1
Cs5, €105 C11 u® +u 4 3u 1
Cg,C12 W+ T+ +161u+5
Cs u? +5u% 4 a1
€9 u®? — 21uB® + - — 4023u + 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y+ Ty 4+ 13y — 1
C2,C7 30 4434y —1
€3 y® —29y% + ... 4+ 6081637y — 208849
= y® =5y 4 1Ty — 1

€5, €10, C11 3+ 79y ey —1

C6, C12 y¥ + 67y + .- 4+ 201y — 25
cs y89—y88+"'+61y_1
¢ Y 4 11y 4 - — 1504923y — 34969




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/=1C8S) Cusp shape
= —0.549845 + 0.8526521 3.32155 +4.573871 0
= —0.549845 — 0.8526521 3.32155 — 4.573871 0
= 0.526296 + 0.8263671 —1.86086 — 1.108631 0
= 0.526296 — 0.8263671 —1.86086 + 1.108631 0
= —0.445113 4 0.9479021 —0.40489 — 1.976361 0
= —0.445113 — 0.9479021 —0.40489 + 1.976361 0

—0.130520 + 0.9338371

3.46999 + 3.778041

—4.00000 — 3.559641

—0.130520 — 0.9338371

3.46999 — 3.778041

—4.00000 + 3.559641

0.237242 + 0.8990931

—1.63382 — 0.872831

—8.59634 + 3.630791

0.237242 — 0.8990931

—1.63382 + 0.872831

—8.59634 — 3.630791

= —0.621956 + 0.6889481

3.81774 — 9.210701

0.+ 8.076061

—0.621956 — 0.6889481

3.81774 4+ 9.210701

0. —8.076061

0.605630 + 0.6942281

—1.43820 + 5.634201

—4.00000 — 7.711701

= 0.605630 — 0.6942281

—1.43820 — 5.634201

—4.00000 + 7.711701

0.523965 + 0.9451381

5.28882 + 3.534481

0

0.523965 — 0.9451381

5.28882 — 3.534481

0

—0.544235 4 0.7326261

0.19552 — 2.157491

—2.95032 + 4.147941

= —0.544235 — 0.7326261

0.19552 4 2.157491

—2.95032 — 4.147941

—0.556700 + 0.6875231

0.25637 — 2.056491

—1.44246 + 3.136241

—0.556700 — 0.6875231

0.25637 + 2.056491

—1.44246 — 3.136241

0.601306 + 0.6200051

6.23656 + 0.953241

3.59693 — 2.991871

0.601306 — 0.6200051

6.23656 — 0.953241

3.59693 + 2.991871

= —0.389004 + 1.0752201 —0.038564 — 0.7423991 0
= —0.389004 — 1.0752207 —0.038564 + 0.7423991 0
= —0.270428 + 1.1144007 0.573665 — 0.0943451 0
= —0.270428 — 1.1144001 0.573665 + 0.0943451 0
= 0.443236 + 1.0769801 —3.58294 + 3.540041 0
= 0.443236 — 1.0769801 —3.58294 — 3.540041 0

0.773116 + 0.2971681

1.90632 — 11.113101

—1.08984 + 6.877701

||| ||| |g ||| (g|e|g|r|g|e2|g|g|g|”f|g|g|g|g|g|g|g |
Il

0.773116 — 0.2971681

1.90632 + 11.113101

—1.08984 — 6.877701




Solutions to I V—1(vol + /—1CS) Cusp shape
= 0.555744 4+ 1.0357901 6.42783 + 1.420291 0
= 0.555744 — 1.0357901 6.42783 — 1.420291 0
= —0.537606 4 1.0474801 0.71771 — 3.821581 0
= —0.537606 — 1.0474801 0.71771 4 3.821581 0

—0.767527 4- 0.2903721

—3.36844 + 7.412241

—5.77885 — 6.288641

—0.767527 — 0.2903721

—3.36844 — 7.412241

—5.77885 + 6.288641

0.654390 + 0.4892011

8.03046 + 3.302361

5.19136 — 3.359301

0.654390 — 0.4892011

8.03046 — 3.302361

5.19136 + 3.359301

= 0.280299 + 1.1494901 —5.92026 — 0.490341 0
= 0.280299 — 1.1494901 —5.92026 + 0.490341 0
= 0.260330 + 1.1566001 —2.58902 — 8.083241 0
= 0.260330 — 1.1566001 —2.58902 4+ 8.083241 0
= —0.267783 + 1.1552201 —7.80687 4 4.357901 0
= —0.267783 — 1.1552201 —7.80687 — 4.357901 0

0.293939 + 1.1513401 —6.07434 — 0.288871 0
= 0.293939 — 1.1513401 —6.07434 + 0.288871 0

—0.683893 + 0.4280511

7.74822 + 5.294181

4.36161 — 4.333541

—0.683893 — 0.4280511

7.74822 — 5.294181

4.36161 + 4.333541

= —0.308826 + 1.1541601 —8.28930 — 3.487981 0
= —0.308826 — 1.1541601 —8.28930 + 3.487981 0
= —0.471075 + 1.0980601 0.51569 — 6.519761 0
= —0.471075 — 1.0980601 0.51569 + 6.519761 0

0.752387 + 0.2814021

—1.59860 — 3.558411

—3.12371 + 1.574201

0.752387 — 0.2814021

—1.59860 + 3.558411

—3.12371 — 1.574201

0.318069 + 1.1555301

—3.26936 + 7.193051

0

0.318069 — 1.1555301

—3.26936 — 7.193051

0

—0.734105 + 0.3151001

4.84491 + 2.693091

1.74893 — 2.468501

—0.734105 — 0.3151001

4.84491 — 2.693091

1.74893 + 2.468501

0.548293 + 1.0688501

0.30757 + 7.159741

0

S| g|g|g || |g(e|g|e g2 |e|g|g|g|g|e|g|g|g|g|g|ge =

0.548293 — 1.0688501

0.30757 — 7.159741

0




Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.561612 + 1.0692801 5.87439 — 10.108201 0
u = —0.561612 — 1.0692801 5.87439 4 10.108201 0

u= 0.746796 + 0.2620511

—1.84029 — 3.444251

—4.01435 + 3.415991

u= 0.746796 — 0.2620511

—1.84029 + 3.444251

—4.01435 — 3.415991

u = —0.621550 + 0.4650421

2.42382 — 0.755711

1.71757 + 3.841561

u = —0.621550 — 0.4650421

2.42382 4 0.755711

1.71757 — 3.841561

uw= 0.653966 + 0.4171741

2.20293 — 2.465861

0.44156 + 5.211621

uw= 0.653966 — 0.4171741

2.20293 + 2.465861

0.44156 — 5.211621

u = —0.737893 4 0.2385001

—4.15809 — 0.232871

—7.53192 + 1.382241

u = —0.737893 — 0.2385001

—4.15809 + 0.232871

—7.53192 — 1.382241

u=0.733536 + 0.2215661

0.79810 + 3.871641

—2.73189 — 2.633271

u= 0.733536 — 0.2215661

0.79810 — 3.871641

—2.73189 + 2.633271

u = —0.553875 + 1.1241301 2.48561 — 7.583321 0
u = —0.553875 — 1.1241301 2.48561 4+ 7.583321 0
u= 0.526277 4 1.1427101 —1.85636 + 0.862251 0
uw= 0.526277 — 1.1427101 —1.85636 — 0.862251 0
u = —0.532862 + 1.1416301 —6.76881 — 4.549351 0
u = —0.532862 — 1.1416301 —6.76881 + 4.549351 0
u=0.541979 + 1.1401901 —4.39315 + 8.297381 0

= 0.541979 — 1.1401901 —4.39315 — 8.297381 0
u=0.549916 + 1.1377001 —4.09560 4 8.465341 0
u= 0.549916 — 1.1377001 —4.09560 — 8.465341 0
u = —0.556243 + 1.1401701 —5.85930 — 12.384201 0
u = —0.556243 — 1.1401701 —5.85930 + 12.384201 0
uw=0.559891 + 1.1401501 —0.5695 + 16.11551 0
uw= 0.559891 — 1.1401501 —0.5695 — 16.11551 0

u = —0.570709 + 0.1316631

3.08005 + 2.484791

—2.33160 — 3.108301

u = —0.570709 — 0.1316631

3.08005 — 2.484791

—2.33160 + 3.108301

u= 0.453510

—1.01886

—9.58030




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 W A3 b — 1
2, C7 w4+ U+ w41
& uS —u®® o 1497w + 457
€4 T |
Cs5,C10; C11 S +u 4 3u 1
Cg, C12 u¥ + U 4+ 4161+ 5
s u®® 4+ 5u% a1l
Co u® —21u% + - — 4023u + 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
@ v+ Ty o+ 13y — 1
C2,C7 B 43y —1
Cs y®9 — 29488 + ... 4 6081637y — 208849
Ca y* —5y® 1Ty — 1
Cs5, €105 C11 4TSy — 1
C6y C12 y® +67y% + - + 201y — 25
cs vy 4 6ly—1
C9 y® + 11458 +

-+ — 1504923y — 34969




